JERRYGREER'SENGINEERING© 2023
Generoator Drive
Revised: 05-22-23

- 24

|
|
|
|
16 |
I -
AT Tk 2 \o  10~11
H 4 fteg=—"7
| By
i — w‘ 178 12
v\ 3
GENERATOR 6 17

AND MOUNT

Page 1 Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering

LEFT SIDE
CRANKCASE

MOTOR
SPROCKET

© o._C © _
FRONT ANCHOR PLATES

\

CHAIN COVER REMOVED FOR CLARITY




Jerry Greer's Engineering - 1941 741 - Generator Drive

Ref Part # Qty Description Price
1 100225 1 KEY, 3/32 X 3/8(Woodruff) $0.75
2 44312 1 SEAL RETAINER, $18.00
3 40091 2 FELT SEAL, 2.575" O.D X .125" thick, generator drive $4.00
4 JG-3020 1 GENERATOR DRIVE CHAIN GUARD COVER ASSEMBLY, $225.00
5 43805 1 GASKET, generator drive backing plate $5.25
6 43806 1 GENERATOR DRIVE CHAIN GUARD BACKING PLATE, $42.00
7 750607 2 SCREW, 1/4"-20 X .500"(Flat Head) $1.25
8 207107 1 BOLT, 5/16"-24 X .500"(Hex) $3.00
9 922007 1 WASHER, 5/16" Split Lock; Cad Plated $0.75
10 43453 1 GENERATOR DRIVE SPROCKET, 22 teeth, standard output, tapered shaft $75.00
11 40080 1 GENERATOR DRIVE SPROCKET, 22 teeth, standard output, straight shaft $70.00
12 100224 1 WASHER, 7/16", External Tooth Lock Washer; Zinc Plated $0.75
13 606012 1 NUT, 3/8"-24(Hex); Cad Plated $0.75
14 40081 1 GENERATOR DRIVE CHAIN, 3/8" X 3/16" X 60 rolls, master link included $35.00
15 100870 1 CONNECTING LINK $2.50
16 43807 1 GASKET, generator drive backing plate and cover $10.50
17 43808 1 GASKET, generator drive cover and primary case $5.50
18 43885 1 GENERATOR DRIVE CHAIN COVER, nipple for breather tube included; Bare Finish $175.00
19 754207 9 SCREW, #8-32 X .500"(Round Head) $1.25
20 922003 9 WASHER, #8 Split Lock $0.50
21 44299 1 GENERATOR DRIVE CHAIN COVER PLUG, ; Bare Finish $1.50
22 206019 1 BOLT, 1/4"-20 X 1.750"(Hex) $3.50
23 922006 1 WASHER, 1/4" Split Lock; Cad Plated $0.75
24 43877 1 OIL BREATHER TUBE, connects to generator cover; Cad Plated $65.00

Page 2

Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




